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A-1-1| 255 12 12 A-1-1 - -
A-1-2| 255 33 34 A-1-2 - -
A-2-1| 254 15 15 A-2-1 - -
A-2-2| 258 13 13 A-2-2 - -
B-1-1| 258 7 7 B-1-1 - -
B-1-2| 247 9 9 B-1-2 - -
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945-134Ba/L) | toh-137Ba/L) | 2B | f3E | @i | #Ek |#kE
IS e BEE [ruree 245 | BA | BA | AR |
KD KEMNDIECRERT - - - -
BHKA-1-1] ND 1 ND 1 0028 | 12/26 | 12/30 - -
2HKA-1-2] ND 1 ND 1 0.028 | 12/26 | 12/30 - -
2HKA-2-11 ND 1 ND 1 0.028 | 12/26 | 12/30 - -
2HKkA-2-2] ND 1 ND 1 0.028 | 12/26 | 12/30 - -
2HKB-1-1] ND 1 ND 1 0.028 | 12/26 | 12/30 - -
i2HKkB-1-2] ND 1 ND 1 0.028 | 12/26 | 12/30 - -
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